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  2.	
  	
  Given:	
  6x = 12       	
  	
  	
  	
  	
  	
  	
  	
  3.	
  	
  	
  Given:	
  	
  D is the midpoint of  𝐸𝐹	
  

	
  	
  Conclusion:	
   _________________      Conclusion:	
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Given:  26 – 8(x – 2) + 4 = 30                                              Prove:   x = 2 

Statement                                                               Reason 

Given:  2x + 4 = 12                  Prove:   x = 4 

Statement                          Reason 

Given:  11 - x = 11                  Prove:   x = 0 

Statement                          Reason 

Given:  4x - 23 = 2 – x                  Prove:   x = 5 

Statement                          Reason 

Given:  7x - (3x – 1)  = -3                    Prove:   x = -1 

Statement                          Reason 
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2x = 82

Addition Property

x = 2

Division Property

ED = DF

Def of Mdpt.

2x + 4 = 12 Given Given

Given
Given

Given

2x = 12 Subtraction Property

x = 6 Division Property

11- x = 11

- x= 0 Subtraction Property

x = 0 Division Property

4x - 23 = 2 - x

5x - 23 = 2 Addition Property
5x = 25 Addition Property

x = 5 Division Property

7x - (3x - 1) = -3
7x - 3x + 1 = -3 Distributive Property

4x + 1 = -3 Combine Like Terms

4x = -4 Subtraction Property

x = -1 Division Property

26 - 8(x - 2) + 4 = 30

26 - 8x + 16 + 4 = 30 Distributive Property

46 - 8x   = 30 Combine Like Terms

-8x = -16 Subtraction Property
x = 2 Division Property




